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Eloetion for gram panchayat is conducted 1. UM AR TH__ s
. l'n'l - Tiﬂ'ﬁﬁ | % o EFIJ‘
\) r_l:_!nmn Government () ﬁm
(I3 State Government (B) ST 9K
((") State Election Commission (C) TSI TE 3m
(1) Central Election Commission (D) 5 I 3w
Haryanvi tradition eredits for wfemE T @i TH S A ffa
laying the foundation of the proscnt style T F 3 FTde
of Swang. (A) 9. fuge
(\) Pt. Deepehand (B) 24T W
(B) Dayachand Mayna &
(€) Kishan Lal Bhaat © Ll
(D) None of the above (D) 3 ﬁﬂ?ﬁé Ll
e, district of Haryana has many . TRawnE T R
villages named as Todi, As: nongJaJan. - ??Eﬁ ma'ﬂ aﬂ'ﬂ WWTS'HT %ETQTI
Malakoshna, Hindola, Bhairavi, "ta,, . M% !
(A) Gurugram (B) Charkhi Dadn- (A) TEIH (B) =R qred
(C) Panipat (D) Sirsa (C) IHmTa (D) T
A resume should be f=m BT =TT |
(A) Short and precise (A) Tt ot we
(B) Fancy and colourful e (B) e 3R A
(C) Having acronyms a sbreviation (C) INfeafiie 3 diar weai aren
(D) None of these : D) %qﬁ e Eﬁﬁ EG|
Haryana State Industrial Devél&ﬁment . gamon sy o e frmy
Corporation has developed an Induatnal et 1 3fafies atea i #i fawtaa
Model Township at R
(A) Manesar (B) Fandabad (A) THET (B) HIRETR
i
To read the data, an infrared laser is el 1 ve & forg, U e W
beamed through the Pﬂlyt:arbonate TR 3Ta 3 AT B T S @ |
s:fﬂg;?ltf- @& S 2.
iB) CD " B) @2
~(C) Floppy disk R GRS
"% (D) Hard disk S | (D) & fe=
ek $ees
i -2~
Sy P
_— |
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7.

9.

When electricity is passed through an
aqueous solution of sodium chloride, it
decomposes to form sodium hydroxide.
The process is called

(A) Loewig's process

(B) Luca’s process

(C) Nelson’s process

(D) Chlor-alkali process

A group of six persons A, B, C, D, E and
F are members of a club. Out of these
six persons two are musicians, two are
badminton players, one is a photographer
and one is magician. A, the photographer,
is married to D who is a musician. The
magician is married to B, who is of the
same profession as that of F. A, B, C, D
are two married couples in the group. F,
the unmarried badminton player is the
brother of C. In the pair of badminton

players only one is male.
Who is the magician in the group ?

(A) B
B) C

(C) E
(D) Cannot be determined
of a material is defi  as the
change in resistance in Ohm (Q) per °C
rise in temperature.
(A) Temperature co-efficient
(B) Temperature constant
(C) Temperature effect

(D) Laws of temperature

is coated with a magnetic sensitive

layer and this layer is magnetized in

" clockwise or anticlockwise directions,

which then are interpreted as binary 1s
and Os at reading.

(A) Fixed storage  (B) Diskette

i_-;. (C) Magnetic media (D) Hard disk

7.

10.

1/2020 (12)

54 forega 1 wifem weinge F s e
& TR T &, 9 7 Wi aReies i
fomfed g B, 39 whrn = FeAE |
(A) Sifem i wfzm &
(B) g1 A s > W»’%ﬁ
(C) o5 &t ufdn ‘\@"(“"'{(
c ¥
(D) FR=3 yfseat b
I, ¢,)D, & 3k @ <Nl 1 O 98 @
Sl asaeas @AM A
31 tiftag £, 5 o e faard €, T

BRI qo e G 81 A HemR
T D A g€ & o wrftae 81 IR H I B
AP I TF AN FER FF R TEH
A, B, O,D 3t Iél-3E1 iR $A F am-
TR wefivza et ¢ w1 Aefien
Tt % S H 4 Faa S EH R |
0 g § SR S R ?w”‘" %-u%
G i A &Y
® C (o 3‘* cal
© E ¥
(D) Traifa 7& == g
et el w3 dromm A it () s feht
Afcta i gfs F 1 vfedts § gu ftads
H % & 1 gftmiva e @
(A) qT9HE TOTh
(B) T fer
(C) AT WNTE
(D) THH % fram

U GaehId HAGTI el T 261 AT
B2 3it 78 T Tl i fwm a1 35 fadia
foan & gEhiga w2, B T W
ool 15 31T 0s F F9 H A

S@Ie |
(A)ﬁﬂfﬁam B) feere
D) w6 =

(C) ek AR

e
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11.

12,

13.

14.

15.

16.

Saina Nehwal Won Bronze
London Olympic held in

(A)
©

medal at the
2012
2004

(B) 2016

: (D) 2008
What is the name of the o] 2

(A) Wire stripper

(B) Crimping taol

(C) Combination pliers

(D) Diagonal cutting pliers

CPU stands for

(A) Central Programming Unit

(B) Central Processing Unit

(C) Central Planning Unijt !

(D) Central Progréss Unit

Aligarh fort located in Hansi which wr

built in 12% Century which also cr”
as

(A) Fort of Knives (B) Fortr Jrds
(C) Fort of Staves (D) For axe
Solid-state storage dev’ score data
using a special type o .mory called
memory.

(A) Random Access Memory (RAM)

(B) Flash

(C) Cache

(D) Read Only Memory (ROM)

Flash drives, digital cameras, printers,
scanners are some of the devices that

often connect through the port.
(A) Solid state

(B) Parallel

(C) Serial

(D) Universal Serial Bus (USB)

15.

16.

11.

12.

13.

14,

)

12020 (12)
HTE EaTe 3 5
FTRI 92, Sy
(A) 2012
(©) 2004

T e afrele A
(B) 2016

(D) 2008

J ST A R 7

(A) T fgm

(B) forfeim 7=

(C) FeHTH R

(D) SRS e Wi

1.y, % e 2
(A) ¥gat stanfim gfie
@) Heat hafem gfe

2(C) Hga wenf-m gfie

@) T e
el R et 1 e < 1241w
Erioikic SRR & &

(A) TR fFeT  (B) deEn w1 e
(©) a1 ffen (D) Fowre 1 forem

31 AT WeruT il v ey wan
AR 1 T g AT i e w
?, AOH FEe |

(A) Ten ww AN ()

(B) T

(C) ¥

(D) {rz Anf<r #mrdy (Tm)

TRAED TR v oo
et |

(A) 3G raEn

(B) 9HIGT

() ®iu=H

(D) Yfaeier faferet s (3,0w.5.)

Hincin i

o S e Oy
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18. Ethanoic acid reacts with absolute

(A) 1991

L

-

-‘19

Lol s e

20.

21.

22.

23.

The cold war ended in

(B) 1982
(€) 1954 (D) 1962

othanol in the presence of an
catalyst to give an ester.

(A) Acid : (B) Base
(C) Ni (D) Fe

What is the name of the hammer ?

(A) Claw hammer

(B) Ball peen hammer .
{(C):Gross peen hammer 51,
(D) Straight peen hammer

Western ghats are also known as

&
"(A) Churia Range

(B) Mahendra Parvatham
(C) Sahyadri
(D) None of the above

The capital.of Japan 1s

(A) Tokyo . B Beijing

(C) Kuala Lumpur (D) dJakarta
Technology Training Centre opened in
Nilokeri of Karnal district of Haryana is
dedicated to which of the following crops ?
(A) Rice (B) Wheat

(C) Tomato (D) Potato

This lake of Faridabad in Haryana was
built during the rule of Tomar dynasty
(A)+Surajkund

(B) Sannihit Sarovar

(C) Brahma Sarovar

(D) Karna Sarovar

18.

19.

__gb.

21.

22,

23.

1/2020 (12)

Yifﬂﬂ?x(ﬁﬁﬂ i gan |
(r‘) 1991 (B) 1982
(C) 1954 (D) 1962
3%13% SO RS A |
3qli:‘ﬁ1ﬁ T-‘| Eﬂfﬁiaﬂll
am?ﬁ% | e
(A) (B) &N
(C) Ni (D) Fe
EMS H AR AT ?
(C) FHATATAL D)
g ¥ e o 36 e o el T
et o S Frefafed 3 @ e v
Fraafdas ?
(A) =& ®) T
(C) THTR (D) 3=,
feon # wHETEE 1 98 giet d S
1T 36 2 e S T oft
(A) G=FE
(B) aﬁ%ﬁ'ﬂﬁﬁ(
(C)W‘Hﬂﬁﬂ
(D) a0l T
B
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30.

What 1s the name of the

) Warning s
(3 M:!nd:llm'_\' s
() Prohibition s

snfety mign 2

(1) Information s

Workdone in adinbatije process

RT, -
(N =1 RT:

o () =
= !{Lll'l __'il\“
© _"‘_T;_ M Ry -1 -1y

P walks 10 m in front and then 10m to the
right. Then every time turning to his left he
walksd m, Idmand 15 m respeetively, How
far is he now from his starting point ?

(A) 2m (B) 4m

(C) 8m (D) 5 m

Who discovered the vaccine for Small-pov
(A) Edward Winner

(B) Edward Jenner

(C) Edward Ford

(D) Edward Runner

What is the unit for quanuuy of electricity ?

(A) Ampere/second (B) Volt /second
(C) Coulomb (D) Mho

In a certain code 57123 is written as
BRAND and 4698 is written a8 STOP, How
is 16123 written in that code ?

(A) STAND (B) ADNTS
(C) TSNDA ) 'FASND
Which term of the A.P. 3, 8, ld. e i8 38 7
(A) 7 ) 6
() 5 M) 8
-

26.

217,

28.

29.

30.

V2020 (12)

IR IT R R N TR

(A D
(b fyaed aa o
() fameg s

(1) I Ak

o)

g e A5
feerve ufaen o S g o By ‘\ ¢
oy N a X

: ¥l

LT )
© S (1) ey -

)
P lllTﬁZIHIIH'Irn 3l 10 e srf el s
R | GHH I T AT SR seff i 1 g e
I 6 W 16 1iter she 15 e s | o
Sgt-d‘ncﬁﬁ?f{ aw A frf g w7

)y 2™ @) 47z e
(©) 8HR (D) b
mmm.mm@%‘u o[ ©
(A) wgas fam l -

(1) TEFE AW ¢ ¥ &
(t‘}wéqﬁ”é e e
(1) T TRl 3 \lﬂ"f&""m ...
o) 1 e ) 3 2 S\“’:’
(A) TR /dFE (B) dee/d4

(C) FE™ (D) =&

e fasiy shie & @8d 57123 %1 BRAND aht

4698 1 STOP foran s &, & oot Fz %
T 46123 1 # R smom 7 ¢TI0 ”D
(A) STAND (B) ADNTS :

(C) TSNDA (D) TASND

T Aot 3, 8, 13,‘?.'.%%%}%1@ 383 ?

(A) 7 B) 6

© 56 § (8
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52,
33,

34.

R s 1

36.

37.

s C) Sirsa

38.

The first Cotton mi]] in Bombay came up in

(©) 1862 M) 1860

Which of the following is South-West
boundary of Haryana ?

(A) Shiwalik (B) Delhi
(C) Yamuna (D) Ghaggar

This district of Haryana has War Heroes
Memorial Stadium

(A) Rewari (B) Panipat
(C) Gurugram (D) Ambala
Vedas are how many in number ?
(A) 5 ®) 4
©) 2 (D) 3
< _: -‘:_.zr_._:‘ Fftalsias .‘\. ¥ ..:_"f_' e
When one body rolls over the surface of

:-mother body, the resistance toits motion
is called as

(A) Walking Friction
(B) Running Friction
(C) Static Friction
(D) Rolling Friction

Find the missing term.

2,4, 16, 128, ?
(A) 2041 (B) 20456
() 2046 (D) 2048

The highest population of pigs was found
in district of Haryana.

(B) Ambala

(D) Sonipat

(A) Kaithal

have two or more processors for a
gingle running process.

(A) Realtime  (B) Time sharing

(D) Multiprocessing

W

©) Distributed

31.

32.

33.

34,

35.

36.

37.

38.

112020 (19,

ﬁagﬁq’é‘c’ﬁaﬁqm
(A) 1855 ﬁa.mmé“g?
(B) 1854
(© 1862 D) 1860
ﬁw%f@aﬁﬁﬁq_mm
Eal
e femo-feem dm & -
A) frafers (B) feesht
© g D) T
'E&QTW1€HETTfﬁ?§i§ T
Rfgmy e
GVRCIS| (B) THiqa
(©) TeIm (D) 3fsren
T K &
g A) 5 S
©
ST fie T fie % wae woggE ,
ol i 8 wiedry FEAAT & |
QA);ﬁHHTH&W LA
(B) Srear gy @
(C) &R o |}
(D) T o 5 rﬁé, 3
ﬁ 3
T Tt Lo
(A) 2041 B) 20 ‘
(C) 2046 (D)/zég &g&
gﬁaﬁmﬁﬁam@ﬁmwmqﬁ{\;}?
?
(A) Hu (B) A=l !
(C) fammn @) Tfga
7 weh € o aTel Ui & e gt
A Y fE NAEEA § |
(A) Tore zigH (B) 2158 Diafa
(©) fefones D) weEsRE

B
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g 39.

40.

41.

43.

44,

45.

v ; i A8
7 M 28
The unit of electrien) |-vsik-*slﬂh')ri¥:t-"is

() Ohm (BY Mho

(©) Ampere/second (D) Coulom,

‘I l;l a certain code ‘TAVOUR' 1S Written as
ECURTV'. How is TOSTER’ written i1l1
that code ?

(A) GPTUFS
(C) OFTSRE

(B) ENRSDS
(D) EQRWDYV

Indian Constitution borrowed the
Principle of ‘Liberty, Equality and
Fraternity’ from the Constitution of

(A) Ireland (B) IEngland

(C) France (D) Canada

The weight that a person can lift will vary
according to
(A) Age

(C) Condition

(B) Physique
(D) All of the above

Which among the following dance *

of Haryana marks the sowing of ¥’ s
crop ? j

(A) Jhumar B) I

(C) Ghoomar a «1

‘A number consisting « . digits is 4 times

the sum of its digits and if 27 is added 1:0
it, the digits get reversed. The number is

(A) 63 (B) 35
(C) 36 (D) 27

According to Mahabharat, Yu@hﬁrhad
offered pinds in memory of their relatives
killed in Mahabharat at this place

(A) Saraswati Theertha
(B) Gopal Mochan

(C) Beri

(D) Basdoda

M 1‘1“,'\1_ A ﬂ
oS . =
L l
39, forem vl 0 2o 3 o
(A) 3T (B) o
(C) v ; . s
) UEfRR /e (D) Ftmy -2

40,

41.

42,

43.

44,

U firg g 4 'l,:‘AVOUJ{' 1 KCURTV
feran s 2, 1 weft e @ PoS TR AN

Sn ¢
(A) GPrurs
(C) OFTSRE

(B)”ENRSDS
(D) EQRWDV

R TR e, G S -

=1 fagm Fofemafame |

(A) ITIEE (B) Teie

(C) W™ D) FE1

T e F R 331 IW ) @) 396

. o AR S~ 21 7 |

A) 1Y, (B) I =

(© ferf (D) I ™

4

Frefafaa 3 @ et & sR-m g @

FEA T T 1 Goha T 2

(A) T . (B) T

(C) g RSIES]

Ueh 2 375hi ! GE&AT, 310 37eh1 ohl T =hi 91

N ® 3R A s 27 Siver W 8, @ of

U WA & | He ¢ SN

(A) 63 o) 85 A 7

(C) 36 D) 27 \
i § .

% TR T 1 st i e wen i W2 gern

o1 ? X

(A) weEeh et % :

(B) TiTE HE e

©) i

(D) TERET
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46.

ntage of stianded

t is the adva
B lid conductor ?

conductor over SO
() Cost is less

(B) More flexible
(C) Less voltage drop

(D) More insulation resistance

In the year , Seth Chhaju Ram

47.
was elected as a member of the Punjab
Legislative Council from Hisar district of
Haryana.
(A) 1937 (B) 1920
(C) 1927 (D) 1935

48. The ‘Mule’ was a machine invented by

(A) James Hargreaves il
2 .':---_-,?'-::-'f-: ue Ctﬁnfg-!;?xx}ﬂ c “’Gaf’% “ﬂ% kg
L% 0) Bmund Cartwright
(D) Richard Arkwright

49. What should come in the place of questic

mark ?

BD; | CE; | DFy5

EG, | FHy | Gljp

HJ, | IKg | ?
A) 1J, (B) JL,,
(C) JK; D) JL,

50. Pomtmg out to a lady, Rajan said, “she
is the daughter of the woman who is the
mother of the husband of my mother”.
Who is the lady to Rajan * 7
(A) Aunt (B) Grand daughter
(C) Daughter (D) Sister

51. What is the full form of BIS ?

(A) Board of Indian Standard
(B) Bureau of Indian Standard
(C) Board of International Standard

(D) Bureau of International Standard

46.

47, YT UM ___ 94§ ghawn  femwn a
G fa Iftye % 9ee % ®9 H T M |
(A) 1937 (B) 1920
(C) 1927 (D) 1935

48. qam@—manﬁwm@mﬁm?
'-1-'.-‘-(A)‘—;‘m,m R

‘ g@ma:én{z
(D) feaé e
49, e forg T R N ST ?
BD; | CE; | DFj5
EG, | FH4 | Gljo
Hi, | IKg | ?
A) 1J, B) JL,, P o
(C) IJK,; ) JL, i
forelt wften I o Hohd e U9 A hE,
g 3 feen S A 2, S A0 5 6 vl R
P RN TS R FAE ? _
(A) Fam (B) e r
©) & (D) &

Homwm TP s R ?
(A) =Y s S e

(B) S 371§ Wed

(C) e 3l ST Ked
(D) SR AT I Reg

50.
ATV
AN !

-—

51.
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b,

53.

H4.
Ty 554
)
b6.
> 57.
J 58.
B

1/2020 (12)
Only temple dedicated to Ekalavya i ) 3 :‘l
situated in village of Hurya!:-l;_g il ) ‘g‘qﬂ'ﬂ THAE HfeT efrgmon &
(A) Yamuna Nagar (B) Khandsa T R | : .
(') Sohna (D) Baharpur Eg)) RS (B) @rem &
e (D) =gt ¥
s is an example f : bt 2 4
storage media, el BT | X,
, JETE R |
(A) Hard disk (A) B3 femp -?
(B Fixed storage B) IS T — -
(C) Removable storage (C) BTHE™I HErm
(D) None of these (D) 378 & 13 78
The power of an earthquake is expressed | 54, e eq i 7ifFa 1 1 TR o T TRATT * 1
i terms of a4 magnitude on a scale is w9 1 =5 T o 2, | __ﬂa%l :
called as 3 et
(A) arth Seale (B) Lunar Scale (&) 3= (B) T
(©) Richter Scale (D) Bio Scale (©) Tz e ®) & qmr
Yamunanagar of Haryana is also called as | 55, gfrmcnaz:gq‘mmm ___xﬁq:ﬂm% \
(A) Steel city (B) Paper city A) TEF TR (B) FOS H I
(C) Copper city (D) Textile city (C) AT T TET (D) =9eT 1 &L
Crocodile Breeding centre is situated 56. TS e g et & faw foet |
district of Haryana. feme?
(A) Panchkula (A} TSN
(B) Kurukshetra ®) T
(C) Bhiwani () Fewh
, ) fean
e frg NS i roefg T S @ 7
Asbestos is found in which__chatnct of | 57. wEOMH f
Haryana ? o G @A) fear (B) &I
g% Huar : C) FA (D) TG
(C) Karnal D) Mah_endragarh ( _
0 media information is 58. T e T e Bt & 3w
oy ing a laser beam. U SIS EHG T ST ek U S |
stored and read using b
disk (A) Fard fewn
(A) Floppy dis ) .
(B) Optical storage @ E!ﬁl et wemr
(C) Hard disk_ adk i‘f"“‘.
(D) Fixed storage @)

=10~
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60.

61.

62.

63.

64.

65.

66.

9 § i WO major component of | 59.
‘ E::,_;;;prcﬁmzd Natural Gas (CNG).
(A) Methane (B) Propane
(C) Butane (D) Pentane
60.

The famous ancient Indian University

(Buddhist) Nalanda was located in
(A) Bihar (B) Uttar Pradesh

(C) Orissa (D) Haryana

If "Cyy = "Cgthen nis equal to

(A) 20 B) 12
(C) 30 (D) 18

Haryana Panchayati Raj (Regulation of |

Communication Towers) Ruleswasp hliahed [
in Haryan i BB i of -
> “(®) 2009

(D) 2011

(C) 2012

Which is the immediate life-saving car 63.
and support ?
(A) Medical treatment
(B) Call a doctor
(C) Intensive care
(D) First Aid
If WOLF is coded as 56, then FOX is [ 64.
coded as
(A) 54 (B) 45
(C) 55 (D) 46
SI unit of Area is ' 65.
(A) m? B) m’
(C) m/s (D) m/s*
Which of the following districts of Haryana 66.
is richest in mineral resources -
(A) Mahendragarh (B) Fatehgarh
(C) Ambala (D) Hisar
A1

a Government Gazett nideis s o
; R -%',,,Q%Pm.; krl:

12)

S AT e )
A THE |
(A) e
(©) FgHA

(B) W
(D) WA

(o) 2012 (D) 2011
ehTeT SiaE SETe 3R FErd
-2 7
(A) Tafsen 3R
(B) et H FAH!

(C) TTE SEIT

(D) Srfis

af WOLF #191S 562, @ FOX %18 1
gm ?

(A) b4 (B). 45

(C) 55 (D) 46

fe 1 7. 37T, T &

(A) m® (B) m®

(C) m/s (D) m/s*

femon 1 FA-a1 fren @ el d
e ?

(A) TEETE (B) BaETG

(C) taTet (D) feEw

et SR R s
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67.

68.

69.

70.

71.

72.

Which one is the input devie: of computer ?
(A) Monitor

(B) Printer
(C) Keyhoard

(D) Speaker
Port Blair is in

(A) Andaman and Nicobar Islands
(B) Goa

(C) Gujarat
(D) None of thege

i,and B'arr]:) brothers. C and D are sisters.
8 son i 7 i

oy 18 D’s brother. How is B related
(A) Father

(B) Brothe
(C) Grandfather g

(D) Uncle

A particle motion on a shape curve is
governed by x = 2sint, y = 3cost and
Z = JE sint. What is the magnitude of
velocity of the particle at any time t ?

(A) 342 sint (B) 3
(C) 32 cost (D) 32

The Vienna Congress was hosted by
(A) Victor Emmanuel

(B) Duke Metternich

(C) Garibaldi

(D) Bismarck 3

is general purpose application
software that lets us create computer
programs that control the creation,
maintenance, and the use of database for

an orgs:mization and its end users.
(A) Spreadsheet packages
(B) Presentation tools

(C) DBMS

(D) Word processor

67.

68.

69.

70.

11.

72.

112020 (12)

T B FR G fearm e ¢
(A) TifazT

(B) fiex
(C) Frars (D) v
T s &
(A) 3TeAH 3R FrEm dm g
(B) ma1
(C) T

D FHaFET ;
(R s i &(C st prgi | a3 |

DF WER | BF C Y Gay 7aEy | Y
@) form (B) wig %
(C)?RK D) AHA »

3

T ST 9% T F0 A ® x = 2sint, '
y = 3cost AN z = 5 sint| TR ¥ v |
o@?\.’-%ﬂmmw%? 1
VN AT I S —
() 32 cost @ sz
T =i o Hearh foroes g R o o ? ‘
) foT g iy
(B) = AzHa

(©) .. T,
(D) T2 NaW
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78. This dance form of Haryana is named

after an ornament
(A) Phag
(B) Daph
(C) Gugga
(D) None of these
74. A software application used to enable
computer users to locate and access web
page is called
(B) Web server

(D) E-mail

(A) Web browser
(C) Web site

75. If HCF ot_' 306 a_nd 6571s 9 then LCM of
ST (A) 22228 (B) 22338
(C) 306 (D) 306 x 657

76. The plains are made up of sand, »
silt and hard calcareous gravels Ay
known as
(A) Saras
(C) Bunkers

(B) Karnals
(D) Kankars

77. Choose the correct alternative from the
given ones that will complete the series.

ZTW, YSV, XRU, ?
(A) WTQ
(C) WQT

(B) QTW
(D) WQS

78. Ahirwati dialect is majorly spoken in which
of the following districts of Haryana ?
(A) Sirsa (B) Karnal
(C) Mahendragarh (D) Rohtak

73

74,

75.

bl
b | P

76.

77,

78.

«18-

ay']

©1/2020 (12)

mmr@'lﬁm:i:| R

(A) FmT

(B) am®

(C) ™

(D) T @ ¢ T

St ITANTRA Bl o Y 1 T T

37 30 7 TE 7 qar S & forg 3T

fipu TS BiwaT TR

FEI A2 |

(A) 9 FFH (B) A9 T

OEEKE (D)

7% 306 3i 657 F1 WETH 1018 e
i 7 31 @ wes o o ‘
‘A) 22228 (B) 22338

(C) 306 (D) 306 X 657

e uff W, g1, e 3R TR Fewrar

il & e &, ol e w9 @ frm am
FATSETE ?

(A) T (B) FAcH

(C) dd (D) FaE

R e et % W @ v freen ;g
< 1 77 e F W H |

ZTW, YSV, XRU, ? W

(A) WTQ (B) QTW

(C) WQT (D) WQS

sfrard Sl 7o w8 fefafeaa | &
it ¥ frg ) o St ST 2 7
(A) T (B) AT
(C) AExTS (D) e

Downloaded from www.cclchapter.com



80.

81.

82.

English Language

Choose the word from the given options
that is exactly opposite to the underlined
word.

It was a very dreary d ay.
(A) Drab
(B) Dangerous

#3.

f=# amn
ofaaa £ araed vatan
FTA 7
(A) FAA
(C) A

(44 Ar=rzrhy

(1)) 240 1 2yt 4

84, ‘HAlaE gAEA FN I 7, Al
(C) Beautiful T 1 F 2 [
(D) Bright () Al (1) A
() Afertar (1) ZA0 B #1%
Out of the four alternatives suggested,
Select the one which best EXPresses 85. 'q?"aﬂmm ____-‘_—'_‘_”“‘?_ |
t‘he same sentence in Indirect/Direct (A) T (p) T
Speech. () ¥ (1) ZA8 A F1%
Kumar said, “I am unwell”.
(A) Kumar said that he had been unwell. 86. 21 @€ A 7“? 7 73 A aiEda
(B) Kumar said that he is unwell. G i
©) K id that he has been unwell. AV gk
(C) Kumar said that he has been unwe ©) fam (D) 7 7 i T
(D) Kumar said that he was unwell. g
87. T F A4 21
In the following words, one w7 18 (A) TFS (B) ¥97
misspelt. Find out the misspelf . (C) =21 (D) 7% 4 18 T2t
(A) Hillock
(B) Vilify 88. ‘AT F 9299 = 21
i (A) #AET (B) &8
(C) Mileage g p i
(D) Hillarious (©) g, (D) T4 H 18 Tal
- the following, a set of four words is | 89, 8,3, 3%, T, 3, 30, 36 anfa g
given. Three of the words are re.labed THATE TE & 9 92 F mmg?
in some way, the remaining word i8 not (A) 3T THAEE  (B) TN [oUarES
related to the rest. You have to pick the ©) S TEEEE (D) T A R
word which does not fit in the relation. .
90. T73 i Fferal Teefiw ; Y
(B) Crafty E - 21
) Wily (A) ot (B) Teraamdt
(D) Naive (©) =i (D) T & ¥é 7
3.




